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Sifleyemy = (1) Sidansg) ellamsserin sAwrs Es0 udeaird 2 GETST 6T 6LISEME0T
sflunisgé Garararoyn. wiFsueld Gopl¥mula eiops
samnaresiuuretfl_ib o _angwis Qgfefldseyw.
2) feow oeg smUY owvl@ame wWLEGCW & (P&l eu S M (&L
S ECasTyHaugHEn LuaL(REs CauamHb. UL fisdr U TSNS
CQuendlé LweTuBSsayLd.
Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.
(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.
GOy = Qeuslammggner mren@ Gfeysmers QsrarLg.
Note : This question paper contains four sections.

\9fey - I/SECTION -1
. (wHuQuekraeT : 15)/ (Marks : 15)

@gﬂqu : () @uilfleller o arer 15 ellemmasEnEEn efenwellssayi. 15x1=15
(i) Osr@ssLul(erer BTENEG WLIHY e sefled Waeyd shwmer
deaLews Cosrposhssy GHELOHLer e Weanyb Csiss
TPSaLO.
Note : (i) Answer all the 15 questions.

(i) Choose the correct answer from the given four alternatives and write the
option code and the corresponding answer.
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2
f)=22+5 arafled, f(—4)= . .

(1) 26 ()21 () 20 (F) —20
If f(x)=x%+5, then f(—4)=

(@) 26 b 21 (€ 20 d) —20

S LB Asrii afleostiar 055058 apery 2 miliyser k+2, 4k—6, 3k —2
erafled, k -em wHUY :

(=1) 2 (=)3 (@) 4 (/) 5
If k+2, 4k — 6, 3k — 2 are the three consecutive terms of an A.P., then the value of k is :
(@) 2 ®) 3 © 4 @ 5

0 umEGS Qsrteuflensulien (pge prang e mliyseia QumESHLUGET
256, vigean Qurg eHN4lg 4 WHMD BGen s 2 QU Wes eram erafle,
2psL QumEGS Garir auflensuler 3 aug o mi

(1) 8 () 76 @ 3 () 16

If the product of the first four consecutive terms of a G.P. is 256 and if the common
ratio is 4 and the first term is positive, then its 3™ term is :

@ 8 ® o © 3 @ 16

x2-2x+7 ereUeng x+4 Y& UGG Gurg feLsEh B

(24) 28 ()29 (@) 30 (/) 31
The remainder when x2—2x+7 is divided by x+4is:
(a) 28 (b) 29 () 30 d) 31

x2—bx+c=0 wHMD r*+br—a=0 A swearurPseier QUIFeurer apewb :

+ - b b
(o) S () S @) 5 () 5

The common root of the equations x2—bx+c¢=0 and x2+bx—a=0is:

() C;]-:a ®) Cz-t')a © c;—ab @ a;;b
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7 2
A= I ~1 0
[1 3] opmID A+B={ , —4] orefich. sianf] B
10
(@‘l)[ ] [6 2 -8 -2
0 1 (=) |, _1] (&) [ . _7] () [_f ;‘)
If A - 7 2 -
A (1 3J and A+B“—=[ ; _Ej,t.henthematri_x'ﬂ=
10
(a) [ ) (5 2} -8 -2
0 1 ® 15 _] (©) [ X h;.) (d) [_? ;J

(=2, 6), (4, 8) @Hw yeref - : oo

Cri&Gam_ig e J.fFrrU'.Jfa.lL:I aener Qevams e CpiCariupes Qetigssmen
1

=) 3 (2)3 @ -3 () -1

Slope of the straight line which is pe

endi ; ST
(=2, 6) and (4, 8) is equal o rpendicular to the straight line joining the points

(a) 3 (b) 3 © -3 @ -

(2’ 5)’ (4r 6): a4, a ﬁ Y 1 . . . “
o (a a) gl Lerefser oGy CpiGam_ud wiemwdemen erafled, a -t

(=) —ff ()4 (&) -4 () 8
If the points (2, 5), (4, 6) and (a, a) are collinear, then the value of ‘a’ is equal to :
() -8 (b) 4 () -4 (d) 8 |

@@ mu;,@mﬁrrg_’r,,s qpé;(ﬁarrwrrhsaﬂdsr FDPATYSET WerpCus 24 Q. (8 18 Q&8
TS PO WECsambHar GG LsED 8 Q.8 walh, wHAP

WPECaETESHen DisnhE @bs LGS - | oo
(1) 4 Q&8 (=) 3 Qg8 (8) 9 Q&8 (F) 6 Q&8

The perimeters of two similar triangles are 24 cm and 18
- : : Cm respecti :
the first triangle is 8 cm, then the corresponding side of the ;ti\er h;r:;ll}éie[fisof‘e side of

() 4cm (b) 3cm (© 9em d) 6em
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10. QemCarem -& DL
Qo AABC-é) £B=9gqe IbDYW BDIAC. BD=8 Qg.i8, AD =4 Gl&.15 crafle
, AD= : 6,
2
ijécfx Glf.n.ﬁ (<) 16 Qg..8 (8) 32 Qs..8 (FF) 8 Q.8
" is a r}ght angled triangle where £B=gge |
Ny and BDLAC, If BD=8 cm, AD=4 cm
(@) 24 cm ®) 16 cm (© 32cm (d) 8
<m
11. v gfeér ZABC=
C
9
S
S
Nal
A s B
(1) 45° () 30° (&) e0° (m) s0°
In the adjoining figure ZABC =
C
E
©
S
ban
-
A 100 m B
(@) 45° (b) 30° (c) 60° @ 5
12. 9 tan?60—9 sec29 =
(@) 1 ()0 @ ° m
9 tan?8 —9 sec?) =
@ 1 ® o © 9 @ -9
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100 7 &.Q5..8 ueneTUTLIY QETeiTL Camengdlen i :

(=1) 25 Qa.18 (<24,) 100 Q&.8 (@) 5 Qs.8 (/) 10 Q&8

If the surface area of a sphere is 100 7 cm?, then its radius is equal to :

(@) 25 em (b) 100 cm (¢) 5cm (d) 10cm

Gﬁ]@ﬁﬁfaﬁﬂ@‘@gﬁgﬂu gadler S Lellwssn 242 . Sigl@ierer geubeumm
AL 3 QumEss; e s@w Hélw efleurs Qgm@Lnden L eflewgsid

(@) VT2 () 4vZ (@) 6v2 (w) 92

Standard deviation of a collection of a data is 22 . If each value is multipli
. lied by 3,
then the standard deviation of the new data is - PReC Y

(@ V12 b) 42 © &2 d) 92

52 S (paer Qaram @@ SLGss gdGBHE om S0 THEGWCUNE g
R LSDL (ace) 28 GQdQmo@ib HNID Gwm @rrsreuns (king) Géoemogib
Qmuugparer flapsse, : .

2 11
(@) = (=) 33 @) 2 (")

A card is drawn from a pack of 52 cards at random. The probability of getting neither
an ace nor a king card is :

2 11 4
@ 33 b 13 © 13 @ =
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9fey - II/SECTION - II

(LQuemad : 20) / (Marks : 20)

@Oly : () wsg NATESEHSHS ellepLwefiEsHaLD. 10x2=20
M) eflarm ereT 30 -5@ SEWIGLLNS eflen _wiafl&&eb. . (g:.gf:'u
14 famsseties @mbs TESUL 9 ANamrésemens Csiey GFwiwayD.

Note : (i) Answer 10 questions.
(i) Question number 30 is compulsory. Select any 9 questions from the first
14 questions.

16. A={1,2 34,5, B={3,4,5 6}, C={56,7 8 eraflet, AUBUC)=(AUB)UC a5
STL(h&.
Given, A={1, 2, 3, 4, 5}, B={3, 4, 5, 6} and C={5, 6, 7, 8}, show that
Au(BuC)=(AuB)UC.

17. &G Qer@ésliul L L euemenr a8, A={5, 6, 8, 10} -af(mpg B={19, 15, 9, 11}
6@ f(x)=2x-1 eTenmeun) AMOBS 6R(H &L eraflev, a LHMILD b B dluicupdler
SlULS®ETS STenrs.

X 5 6 8 10
f(x) a 11 b 19

The following table represents a function from A={5, 6, 8, 10} to B={19, 15, 9, 11}
where f(x)=2x—1. Find the values of a and b.

x ] 5| 6 | 8 |10
fx)| a |11 [ b | 19

18. - 2,m, - Z(m +2) Y Swen g QupsGS it euflensufed 2 erenar erafld,

7 2
m -6 WEHLULSNETE SIS,
2

7
If — 7 My = E(m +2) are in G.P,, find the values of m.
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25.
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&E&H0 enmen . . ..
. b(';“ ’ﬂ}‘ ll..I-Ll HUSTUGSE Siss : 13x+11y=70, 11x + 13y =74,
Ve by elimination method - Bx+11y="70, 11x +13y=74,
. 6x% + Ox
H(H&HES :
O%6 3x2 — 12
Simplify : 6x° + 9
" 3x2 — 12
2jj=2i~] Grdﬁﬂ? 2 puUsmd Qanam, euflens 2x2 o grer el A=[a,]
~Wenen emése,b. )

Construct a 2x2 matrix A= [a;] whose elements are given by a;=2i—j.

ao(??) . 8 —1 ,
=l5 1| L0Omd B=(4 3] erafley, C=2A+B eTerim jemflenusd Srars.

3 2 8 -1
Let A= {5 1) and B = [4 3). Find the matrix C, if C=2A +B.

(=3, 5) LpYIL (4, -9) Hdw yéalsmer Qaamrasd Carl s Sl eRTIq e
2 LUpns 1: 6 eramp ellflgsdler UNEGD Letefulen wisss Qareraesemers
ST,

Find the coordinates of the point which divides the line segment joining (~3, 5) and
(4, —9) in the ratio 1 : 6 internally.

‘al -ar @@ Wenas WHULSEHREGWL, (0, a) eTenrn yearelsdr x-iFH
SIWHHMESD” e smpblen Clowiggememoew o rmis.
“The points (0, a), a > 0 lie on x-axis for all a”. Justify the truthness of the statement.

A, B eremuien APQR-er udsmgeT PQ, PR-saflen Gue oiewps Yerefisear erens.
Gugib AB|[QR, AB = 3 Qz.15, PB = 2 G5.8 wpgib PR = 6 Q.15 erefie, QR
ﬁmgff,]ms:rré; STETS.

In APOR, AB||QR. If AB is 3 cm, PB is 2 cm and PR is 6 cm, then find the length of QR.
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26.

27,

28.

29.

30.
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20 Caryrsdlen siqulalmpg 30v3 S Asraeeid Hpeib o uriemaiurar,
S&Csryrsdlan e sflllemer 30° FHps Caremsfler sramdmmi.
s@rwLLSHdBHg SumeLw deoLflaol urimeus Carl e o erer
& 1.5 8 erafled, Caryrsden e wrs®ss srems.

The angle of elevation of the top of a tower as seen by an observer is 30°. The observer

is at a distance of 30v/3 m from the tower. If the eye level of the observer is 1.5 m above
the ground level, then find the height of the tower,

@M Sewrio Crireul L 2 henarllar GQrgs Upuugly 1540 G&.18.2 iger
LTS SGLLES Yrdensl Cured Brang L is, erefle, 2 (menaTuldler
2 WITENSS SHTes.

The total surface area of a solid right circular cylinder is 1540 cm?. If the height is four
times the radius of the base, then find the height of the cylinder.

@O Yerefl elleursdlan S&fly whuy 12. Sigen eiFs 59 erafled, oliyaref
silleurgdlen BUQUEm wHliwus srears.

The smallest value of a collection of data is 12 and the range is 59. Find the largest
value of the collection of data.

R Srren prewrb @re® e se_LUOE D).

Epsergmd fasdserssrar fapssciaas sramns.

0 Qosow doLsser (i) en yolOb deLsss
In tossing a fair coin twice, find the probability of getting :
(i) Two heads (i) Exactly one tail

(31) @® damos Carargden sen 2eray '?241% &.05.5. e, Bigan wyrsemss

SIS, | w= - | eTens.

AT
(&) x=asech+b tanB LOHMILL y=a tand + b sech erafad, x2 - y2=a2— b2 e Blmieys.

(a) Ifthe volume of asolid sphere is ?241;- cu. cm, then find its radius. (Take T = %J

OR
(b) If x=a sec8+b tand and y=a tan@+b sech, then prove that x2~y?=a2—b?,
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WIfley - 111/SECTION - 11
(wéuGuewmser : 45) / (Marks : 45)

GOy : ) Qen aumUmausetley eTGgaD 9 ellaTésEnsd el walléseab. Ix5=45
@) eferr eraw 45 -5 aewgluTs e wellssen. WHD
14 aflenmrasaflal(mpg 8 clamsssmens Cairay Galueyb.
Note : ()  Answer 9 questions.

(i) Question number 45 is compulsory. Select any 8 questions from the
14 questions.

31. A={a, b cdef gux7yz,B={1,2cd e wmm C={d, e, f, g, 2, y} eTe01&.
A\(BUC)=(A\B)N(A\C) erenueng sflunésawb.
Let A={a, b, c,d, e f g x, vy 2},B={1,2,c d efand C={(d, ¢ f, g 2 y}
Verify A\(BUC)=(A\B)(A\O).
32. A=1{6,9,1518,21); B={1,2,4,5 6} wpmd f: A - Beaug f(x)= L;_"’ eram
aueruUMISSLIUL g HLUIGer &miy f-ew :
() SLYEEN UL
(i) euflenss Gamgseflen sewrid
(iii) <L GuenewT
(iv) euenguLD pHweupdler apold GHlése L.
Let A={6, 9, 15, 18, 21}; B={1,2, 4,5, 6} and f: A — B be defined by f(x) = TT*?*
Represent f by :
() an arrow diagram
(ii) a set of ordered pairs
(i) a table
(iv) a graph
33, 12—-22+32—42+.... erarp Qgm_fen apged 2n e piyseflen smBsed sTarrs.

Find the sum of the first 2n terms of the series 1222432424

T+ TT+TT7+.... sTgid Qamflen 1pged n 2 piriyseflen smbsd srams.
Find the sum of first n terms of the series 7+77+777 + ....

34.
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35.

36.

37.

38.

39.

40.
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<iemsaupn Sld em QubdruuL e Causd wellée 15 £.15. erans. UULSG
BCrmLgHen Sensuded 30 £.5. gy Ceanm, Gp@ edis Sevsuler HHLA
4 warfl 30 HOLAsND BarBo ypLULL QL sHneE Smwd aupsrd Hhler
CeusgHanans &renrs.

The speed of a boat in still water is 15 km/hr. It goes 30 km upstream and return
downstream to the original point in 4 hrs. 30 minutes. Find the speed of the stream.

16x% = 24x° + (a—1)22+ (b + 1)x +49 eranugl @(H P uissHD eTafled, a LHMID b
S Fweunien wHULS@TS &TaETs.

Find the values of a and b if 16x*—24x3+ (a—1)x2+ (b+1)x+49 is a perfect square.

5.2y . 2 -1 : . o
A= [7 3] \oDYID B = {Ll 1] eraflev, (AB)T=BTAT ereuieng sflumirdaayLb.

o 2 2 -1 .
If A= (7 3] and B = {_1 1] verify that (AB)T=BTAT.

(=4, =2), (=3, =5), 3, —2) vppw (2, 3) Hdw yeaeallsamer aarsarras
Qarerr prosrsHen Lrlieous sreams.

Find the area of the quadrilateral formed by the points (=4, —2), (-3, —5), (3, —2)
and (2, 3).

dgrsrev Cappsos s Hamp9ssayd.
State and prove Pythagoras theorem.

0 s-LLjfar Cuad em Qargsspvud Hodpgy. serdgdaea qam
yereflulellmpg Qargésbusder 2 48 wHPL g pdHuapder gHns
Gareamaser enGuw 60° wHmb 45° erans. Co@Ib Qsmgd sbusfear 2 wrb
10 5 erafled, UL glen 2 Wngenss arams. (V3 =1.732)

A flag post stands on the top of a building. From a point on the ground, the angles of
elevation of the top and bottom of the flag post are 60° and 45° respectively. If the
height of the flag post is 10 m, find the height of the building. (/3 =1.732)
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Sﬁgﬂ Fg.ﬁ'r:;]f_—l—% HithIS]G'iST @mL&&sﬁrLgﬂéT BOUPYPL Se@whs el
bLsaflen FhDeTaY&ET erpGu 44 Qa8 wHMID 8.4 m Qs.18 ereis, DiFeT
2wrw 14 Cs.5 erafled, wicuefen & SRSl S eToUS SIS,

The perimeter of the ends of a frustum of
is 14 cm, then find its volume, 1@ coneare 4 cmand 84 m cm. If the depth

sa& Clgeueus augen 2 Goorss SLlqWilen Berid, Giseb LHHIL 2 wirb WeapGu
44 Q&.L;& 21 @&.18 whmib 12 Qs.18. GeueyCarss SLILWLTeE 2 HESLILULH @
DG salbLrs LIOPLUUGEDE. sab9em 2 Wb 24 Qz.18 erefle, DI F e
SligliusssHen el L sHen ety sramrs.

The length, breadth and height of a solid metallic cuboid are 44 cm, 21 cm and 12 cm

respectively. It is melted and a solid cone is made out of it. If the height of the cone is
24 cm, then find the diameter of its base.

18, 20, 15, 12, 25 erettp efleugmisenée wrmun. (Hé Qspenals srars.
Find the coefficient of variation of the following data.
18, 20, 15, 12, 25

RO UseoL Qmepen 2 BLLULBADS. WsOTUSTS 2 (HLLUuGwlurg
R0 @i luaL o daLisd Sdag Qe e BLLdle wa
cramseten S5 8 28 QpsEs0 craud Flapslulden flapsasalamans srams,
If a die is rolled twice, find the probability of getting an even number in the first time or
a total of 8.

(1) 3x4+6x3—12x2-24x wWHMD 4xt+ 1423 + 822 — 8x A Lo MmUYy
Careneusetien 15.QUM.cu sraws.
V6V
(=) 2@ CpraGar® YPw éssmer A LHpbd B HHu yerelsaia
Ceu(pélampgl. AB -er mBLLeTefl (3, 2) erafled, AB -éi swETLT L s
SHITRTS.

(a) Find the GCD of the following polynomials 3x%+6x3 —12x2—24x and
4x% + 1423 + 8x2 - 8x.

OR

(b) A straight line cuts the coordinate axes at A and B, If the mid point of ABis (3, 2),
then find the equation of AB.
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Wifley - IV/SECTION - v

(LHOQuamsdr - 20) / (Marks : 20)
amellayid o grer Qe @ o ' ;
Gl ' Pm eflenmésefel)
ammeneus, CoibQs05s 8w a‘ilmrrésaa@és@m aﬂm;mmﬂésaagia e
* Answer both the questions choosing either of the alternative,

SOUY : @6iGaurg o

() AB=6 Qg..5, ZABC=70°, BC
Qarer eur BIDSFD AB
(a) Draw the two tan
circle of radius 6

=5 Q.18 whmn 2ACD =300

AW sereysar
CD suenrs;. ™

point which is 10 cm awa

cm. Also, measure the lengths of the
OR

quadrilateral ABCD, given AB=6 cm,

¥ from the centre of a
tangents.

(b) Construct a cyclic

and ZACD =30°, <ABC=70° BC=5 em

47. (@) avyuLd gpen Siss - 222 +x—6=0,
JCTVENEY
() xy=20, x,y >0 CTELIGZEN GUENTUL LD cuens.
eresfled, y-em  Wienuuid, ¥=10 erafled, x-ei
(@) Solve graphically 2x2+ x —6=0,

Sigoas LweTLRHE x=5
wHleuud SHrers;.

OR

(b) Draw the graph of xy=20, x, ¥ > 0. Use the graph to find y when x=5, and to

find x when y=10.

-00o0-
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